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Splitting of a Critical Task

Mike Dempsey is the Critical Resource
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The “Longest Chain” included

Resource Contention, due to the
assignment of Mike Dempsey,
across T1, T2 and T3.

Resource/Skill
1 S: Mechanical Engineer[3 days]
S: Designer [3 days]

3 S: Trainer [2 days)
S: Designer [2 days]

TIETFT ée&e=200 1T 4+~ ){|§'v & | Schedule view
ID Name Buffers Prj duration Dec 2017
1y--=== $E———— | 08 15 2
1S01A-T1 T1 [4 days] L — psey,Mechahical Engineer _ LeemTTTTT “_~~
1901A-T2 T2 [2 days] E gme Dempiey Shlls_ﬁemmes_fas'( maﬂ‘f\%ﬁ_—/—em&m cmm"mn/ s
1901A-T3 T3 [5 days] i I:I*Mfkeﬁempsev,“rliainer N B
1901A-T4 Integration [5 days] : L_' Pt otectMamager-Mechanical Engineer
1501A-T454 [MB] Integration 0% [8 days] L ____________________ ho%
1501A-T363 Something else [ 0% ] [ 0% ] [2 days] echanical Engineer
1901A-T455 [FB] Something else [1 day] %
1901A-T11 Installation [5 days] _
1901A-T12 Handover [5 days] ystem Tester,Mechanical Iémine#
1901A-T456 Project buffer [13 days] uq;.
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When is a Critical Task split?

Objective Is to minimize the duration of the Longest Chain!
Il Kl .

S TETT| €23 T 4 X| &~ @ | schedueview v ES S Date‘ll-DEC-l? B |5
# ID Name Buffers Prj duration Dec 2017 Jan 2018
11 18 25 01
] 1 1901A-T1 T1 [4 days] [ I e BempseyMechanical Engineer A
4
I 2 1901A-T2 T2 [2 days] I T Mike Dempsey
] 3 1901A-T3 T3 [5 days] :l—mmmvﬁr'f.iner
I 4 1501A-T4 Integration [5 days] [ r
] 5 1901A-T454 [MB] Integration [8 days] I
] 6 1901A-T363 Something else [4 days] v
< > < >
v 8| 1 1901A-T1] [T1
@ Not started Messages (0) General Constraint Dates Resource requirements Dependencies Custom fields Visual Tracking Workpackage
Reguirements (edit) _—-J-—-_ Team members
(O started rea ) P —_— : _
Resource/Skil »” Estimated time  Uyits Status Est Skill Resource  Units
(O Completed T e mm e —————— e . e 1
1 %@ S:Designer [Mike Dempsey:16h] \\ 2 days/16h 1;06% Not started :
Paused ! : : L S =™ 1
Orau | |& S:Mechanical Engineer [*Karra Niki:32h] 4Ways/3Zh  100% Not started 1
(O Aborted T ettt ettt et e ]

Splitting occurs if a task as more than 1 resource requirement and the Critical Resource has
the shortest duration. In this example the designer is required 2 days on the task.
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If splitting is to be prevented....
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Save Cards view
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i 1 1901A-T1
j| 2 1901A-T2
I 3 1901A-T3
[l 4 1901A-T4
I S 1901A-T454
I 6 1901A-T363

(®) Not started
() Started
() Completed
(O Paused
() Aborted
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Name

T1

T2

T3

Integration
[MB] Integration

Something else

Add B
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Resource load Properties
X | & ~| & | schedule view

Buffers

0%

0%

Splitting is prevented when durations
of all required resources are equal.
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Resource/skil

&J 5:Designer [Mike Dempsey:16h]
&) S: Mechanical Engineer[*Karra Niki:32h]

Prj duration

[4 days)
[2 days]
[5S days]
[5 days]
[8 days]
[4 days]
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Dec 2017 Jan 2018
11 18 25 o1
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Qesource requirements  Dependencies  Custom fields  Visual

Tracking Workpackage
Team members
Skill

|ITTEEEEEEEEmmmmm—————— 5
Estimated time  Units 'Istatus
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4 davsf32h( 50% )I‘Jot started
\
4 days/32h ° % Yot started

Est Resource Units

If the effort is not equal, change the unit %

to modify the expected workload .

A-dato



